# APPLICATION OF MARKOV CHAINS PROPERTIES TO $r$-GENERALIZED FIBONACCI SEQUENCES 

Mehdi Mouline and Mustapha Rachidi<br>Département de Mathématiques et Informatique Faculté des Sciences, Université Mohammed V, P.B. 1014, Rabat, Morocco<br>(Submitted March 1997-Final Revision May 1998)

## 1. INTRODUCTION

Let $a_{0}, \ldots, a_{r-1}\left(r \geq 2, a_{r-1} \neq 0\right)$ be some fixed real numbers. An $r$-generalized Fibonacci sequence $\left\{V_{n}\right\}_{n=0}^{+\infty}$ is defined by the linear recurrence relation of order $r$,

$$
\begin{equation*}
V_{n+1}=a_{0} V_{n}+a_{1} V_{n-1}+\cdots+a_{r-1} V_{n-r+1} \text {, for } n \geq r-1 \text {, } \tag{1}
\end{equation*}
$$

where $V_{0}, \ldots, V_{r-1}$ are specified by the initial conditions. A first connection between Markov chains and sequence (1), whose coefficients $a_{i}(0 \leq i \leq r-1)$ are nonnegative, is considered in [6]. And we established that the limit of the ratio $V_{n} / q^{n}$ exists if and only if $\operatorname{CGD}\left\{i+1 ; a_{i}>0\right\}=1$, where CGD means the common great divisor and $q$ is the unique positive root of the characteristic polynomial $P(x)=x^{r}-a_{0} x^{r-1}-\cdots-a_{r-2} x-a_{r-1}$ (cf. [6] and [7]).

Our purpose in this paper is to give a second connection between Markov chains and sequence (1) when the $a_{i}$ are nonnegative. This allows us to express the general term $V_{n}(n \geq r)$ in a combinatoric form. Note that the combinatoric form of $V_{n}$ has been studied by various methods and techniques (cf. [2], [4], [5], [8], [9], and [10], for example). However, our method is different from those above, and it allows us to study the asymptotic behavior of the ratio $V_{n} / q^{n}$, from which we derive a new approximation of the number $q$.

This paper is organized as follows. In Section 2 we study the connection between Markov chains and sequence (1) when the coefficients $a_{j}$ are nonnegative and $a_{0}+\cdots+a_{r-1}=1$, and we establish the combinatoric form of $V_{n}$ for $n \geq r$. In Section 3 we are interested in the asymptotic behavior of $V_{n}$ when the coefficients $a_{j}$ are arbitrary nonnegative real numbers.

## 2. COMBINATORIC FORM OF SEQUENCE (1) WITH NONNEGATIVE COEFFICIENTS OF SUM 1

### 2.1 Sequence (1) and Markov Chains

Let $\left\{V_{n}\right\}_{n=0}^{+\infty}$ be a sequence (1) whose coefficients $a_{0}, \ldots, a_{r-1}\left(a_{r-1} \neq 0\right)$ are nonnegative with $a_{0}+\cdots+a_{r-1}=1$. Set

$$
X=\left(\begin{array}{c}
V_{0}  \tag{2}\\
V_{1} \\
\vdots \\
V_{n} \\
\vdots
\end{array}\right) \quad \text { and } \quad P=\left(\begin{array}{cccccccc} 
& I_{r} & & \mid & & 0 & & \\
a_{r-1} & a_{r-2} & \cdots & a_{0} & 0 & \cdots & & \\
0 & a_{r-1} & a_{r-2} & \cdots & a_{0} & 0 & \cdots & \\
0 & 0 & a_{r-1} & a_{r-2} & \cdots & a_{0} & 0 & \cdots \\
\vdots & & & & & & &
\end{array}\right) \text {, }
$$

where $I_{r}$ is the identity $r \times r$ matrix. The condition $\sum_{i=0}^{r-1} a_{i}=1$ implies that $P=(P(n, m))_{n \geq 0, m \geq 0}$ is a stochastic matrix. Consider the following general theorem on the convergence of the matrix sequence $\left\{P^{(k)}\right\}_{k=0}^{+\infty}$, where $P^{(k)}=P \cdot P \cdots \cdots P(k$ times $)$.

Theorem 2.1 (e.g., cf. [3], [11]): Let $P=(P(n, m))_{n \geq 0, m \geq 0}$ be the transition matrix of a Markov chain. Then, the sequence $\left\{P^{(k)}\right\}_{k=0}^{+\infty}$ converges in the Cesaro mean. More precisely, the sequence $\left\{Q_{k}\right\}_{k=1}^{+\infty}$ defined by

$$
Q_{k}=\frac{P+P^{(2)}+\cdots+P^{(k)}}{k}
$$

converges to the matrix $Q=\{q(n, m)\}_{n \geq 0, m \geq 0}$ with

$$
q(n, m)=\frac{\rho(n, m)}{\mu_{m}}
$$

where $\rho(n, m)$ is the probability that starting from the state $n$ the system will ever pass through $m$, and $\mu_{m}$ is the mean of the real variable which gives the time of return for the first time to the state $m$, starting from $m$.

It is obvious that the particular matrix given by (2) is the transition matrix of a Markov chain whose state space is $\mathbb{N}=\{0,1,2, \ldots\}$. We observe that $0,1, \ldots, r-1$ are absorbing states and the other states $r, r+1, \ldots$ are transient, because starting from a state $n \geq r$ the process will be absorbed with probability 1 by one of the states $0,1, \ldots, r-1$ after $n-r+1$ transitions. If $m$ is a transient state, we have $\mu_{m}=+\infty$ (cf. [3]), hence $q(n, m)=0$ for $m=r, r+1, \ldots$. If $n$ and $m$ are absorbing states, we have $\mu_{m}=1$ and $\rho(n, m)=\delta_{n, m}$. Therefore, the limit matrix $Q$ of Theorem 2.1 has the following form:

$$
Q=\left(\begin{array}{cccccc} 
& I_{r} & & & & 0  \tag{3}\\
\rho(r, 0) & \cdots & \rho(r, r-1) & 0 & \cdots \\
\rho(r+1,0) & \cdots & \rho(r+1, r-1) & 0 & \cdots \\
\vdots & & \vdots & \vdots & \\
\rho(n, 0) & \cdots & \rho(n, r-1) & 0 & \cdots \\
\vdots & & \vdots & \vdots &
\end{array}\right) .
$$

The sequence defined by (1) may be written in the following form,

$$
\begin{equation*}
X=P X \tag{4}
\end{equation*}
$$

From expression (4) we derive easily that $X=P^{(n)} X$ for $n \geq 1$, which is equivalent to $X=Q_{n} X$ for $n \geq 1$, where $Q_{n}=\frac{P+P^{(2)}+\cdots+p^{(n)}}{n}$. Thus, we have $X=Q X$, where $Q$ is given by (3). We then derive the following result.

Theorem 2.2: Let $\left\{V_{n}\right\}_{n=0}^{+\infty}$ be a sequence (1) such that the real numbers $a_{0}, \ldots, a_{r-1}$ are nonnegative with $\sum_{i=1}^{r-1} a_{i}=1$. Then, for any $n \geq r$, we have

$$
\begin{equation*}
V_{n}=\rho(n, 0) V_{0}+\rho(n, 1) V_{1}+\cdots+\rho(n, r-1) V_{r-1} . \tag{5}
\end{equation*}
$$

Note that the number $\rho(n, j)(0 \leq j \leq r-1)$ is the probability of absorption of the process by the state $j$, starting from the state $n$. Theorem 2.2 gives the expression of the general term $V_{n}$ for $n \geq r$ as a function of the initial conditions $V_{0}, \ldots, V_{r-1}$ and the absorption probabilities $\rho(n, j)$.

### 2.2 Combinatoric Expression of $\boldsymbol{\rho}(\boldsymbol{n}, \boldsymbol{m})$

For $n>m \geq r$, the number $\rho(n, m)$ is the probability to reach the state $m$ starting from the state $n$, because $m$ is a transient state. To reach the state $m$ starting from the state $n$, the process
makes $k_{j}$ jumps of $j+1$ units with the probability $a_{j}(0 \leq j \leq r-1)$. The total number of jumps is $k_{0}+k_{1}+\cdots+k_{r-1}$ and the number of units is $k_{0}+2 k_{1}+\cdots+r k_{r-1}=n-m$. The number of ways to choose the $k_{j}(0 \leq j \leq r-1)$ is

$$
\frac{\left(k_{0}+k_{1}+\cdots+k_{r-1}\right)!}{k_{0}!k_{1}!\cdots k_{r-1}!}
$$

and the probability for each choice is $a_{0}^{k_{0}} a_{1}^{k_{1}} \cdots a_{r-1}^{k_{r-1}}$. Hence, we have the following result.
Theorem 2.3: For any two states $n, m(n>m \geq r)$, the probability $\rho(n, m)$ to reach $m$ starting from $n$ is given by

$$
\begin{equation*}
\rho(n, m)=\sum_{k_{0}+2 k_{1}+\cdots+r k_{r-1}=n-m} \frac{\left(k_{0}+k_{1}+\cdots+k_{r-1}\right)!}{k_{0}!k_{1}!\cdots k_{r-1}!} a_{0}^{k_{0}} a_{1}^{k_{1}} \cdots a_{r-1}^{k_{r-1}} \tag{6}
\end{equation*}
$$

Note that, for $n>m \geq r, \rho(n, m)=H_{n-m+1}^{(r)}\left(a_{0}, \ldots, a_{r-1}\right)$, where $\left\{H_{n-m+1}^{(r)}\left(a_{0}, \ldots, a_{r-1}\right)\right\}_{n \geq 0}$ is the sequence of multivariate Fibonacci polynomials of order $r$ of Philippou (cf. [1]).

Let $n$ and $j$ be two states such that $0 \leq j<r \leq n$. Then $n$ is a transient state, $j$ is an absorbing one, and $\rho(n, j)$ is the probability of absorption of the process by $j$ starting from $n$. First, we suppose that $n \geq 2 r$ and $j=0$. To reach 0 starting from $n$, the state $r$ is the last transient state visited by the process. And $a_{r-1}$ is the probability of the jump from $r$ to 0 , which implies that we have $\rho(n, 0)=a_{r-1} \rho(n, r)$. More precisely, to reach $j(0 \leq j \leq r-1)$ starting from $n(n \geq 2 r)$, the process must visit one of the following states $r, r+1, \ldots, r+j$, because they are the only states from which the process can reach $j$ in one jump. As $a_{r+k-j-1}(0 \leq k \leq j)$ is the probability to go from $r+k$ to $j$ and $\rho(n, r+k)$ is the probability to go from $n$ to $r+k$, we obtain

$$
\begin{equation*}
\rho(n, j)=a_{r-j-1} \rho(n, r)+a_{r-j} \rho(n, r+1)+\cdots+a_{r-1} \rho(n, r+j) . \tag{7}
\end{equation*}
$$

From expression (6), we deduce that $\rho(n, r+l)=\rho(n-l, r)$ for any $n>r+l$. Thus, for any $n \geq 2 r$ and $j(0 \leq j<r)$, we have

$$
\rho(n, j)=a_{r-j-1} \rho(n, r)+a_{r-j} \rho(n-1, r)+\cdots+a_{r-1} \rho(n-j, r) .
$$

Now suppose that $n<2 r$. Then we have two cases. If $r+j \leq n$, expression (7) is still verified. For the second case, $r \leq n<r+j$, we have

$$
\rho(n, j)=a_{r-j-1} \rho(n, r)+a_{r-j} \rho(n-1, r)+\cdots+a_{n-j-1} \rho(r, r) .
$$

Hence, the expression of the absorption probabilities is given by Theorem 2.4.
Theorem 2.4: Let $n$ and $j$ be two states such that $0 \leq j<r \leq n$. Then, if we set $\rho(i, i)=1$ and $\rho(i, k)=0$ if $i<k$, the probability of absorption $\rho(n, j)$ is given by

$$
\begin{equation*}
\rho(n, j)=a_{r-j-1} \rho(n, r)+a_{r-j} \rho(n-1, r)+\cdots+a_{r-1} \rho(n-j, r), \tag{8}
\end{equation*}
$$

where $\rho(n, 0)=a_{r-1} \rho(n, r)$.

### 2.3 Combinatoric Expression of $V_{n}$

By substituting expression (8) in (5), we obtain the following result.
Theorem 2.5: Let $\left\{V_{n}\right\}_{n=0}^{+\infty}$ be a sequence (1). Suppose that the coefficients $a_{0}, \ldots, a_{r-1}$ are nonnegative with $\sum_{i=0}^{r-1} a_{i}=1$. Then, for any $n \geq r$, we have

$$
\begin{equation*}
V_{n}=A_{0} \rho(n, r)+A_{1} \rho(n-1, r)+\cdots+A_{r-1} \rho(n-r+1, r), \tag{9}
\end{equation*}
$$

where $A_{m}=a_{r-1} V_{m}+\cdots+a_{m} V_{r-1} ; m=0,1, \ldots, r-1$ and the $\rho(k, r)$ are given by (6) with $\rho(r, r)=1$ and $\rho(k, r)=0$ if $k<r$.

If we take $V_{0}=1$ and $V_{1}=\cdots=V_{r-1}=0$, we get $V_{n}=a_{r-1} \rho(n, r)$. Therefore, the sequence $\left\{(\rho(n, r)\}_{n=0}^{+\infty}\right.$ satisfies the following relation:

$$
\begin{equation*}
\rho(n+1, r)=a_{0} \rho(n, r)+a_{1} \rho(n-1, r)+\cdots+a_{r-1} \rho(n-r+1, r) . \tag{10}
\end{equation*}
$$

Relation (10) may be proved otherwise by considering the jumps of the process from the state $n+1$ to the state $r$.

### 2.4 General Case and Levesque Result

Now suppose that the coefficients $a_{0}, \ldots, a_{r-1}$ are arbitrary real numbers and define the number $\rho(n, r)$ by (6). Then we can prove by induction on $n$ that expression (10) is satisfied. Hence, Theorem 2.5 is still valid in this general case. Such a result was established by Levesque in [5].

## 3. ASYMPTOTIC BEHAVIOR OF $\rho(n, r)$

Let $\left\{V_{n}\right\}_{n=0}^{+\infty}$ be a sequence (1). Suppose that $a_{0}, \ldots, a_{r-1}$ are nonnegative real numbers with $\sum_{i=0}^{r-1} a_{i}=1$. We have established, using some Markov chains properties, that sequence (1) converges for any $V_{0}, \ldots, V_{r-1}$ if and only if $\operatorname{CGD}\left\{i+1 ; a_{i}>0\right\}=1$ (cf. [6], Theorem 2.2). When this condition is satisfied, we obtain

$$
\begin{equation*}
\lim _{n \rightarrow+\infty} V_{n}=\Pi(0) V_{r-1}+\Pi(1) V_{r-2}+\cdots+\Pi(r-1) V_{0}, \tag{11}
\end{equation*}
$$

where

$$
\Pi(m)=\frac{\sum_{j=m}^{r-1} a_{j}}{\sum_{i=0}^{r-1}(i+1) a_{i}} \text { (cf. [6], Theorem 2.4). }
$$

By using expressions (9) and (11), we derive the following result.
Theorem 3.1: Suppose that the real numbers $a_{0}, \ldots, a_{r-1}$ are nonnegative with $\sum_{i=0}^{r-1} a_{i}=1$. Then, if $\operatorname{CGD}\left\{i+1 ; a_{i}>0\right\}=1$, we have

$$
\lim _{n \rightarrow+\infty} \rho(n, r)=\frac{1}{\sum_{j=0}^{r-1}(j+1) a_{j}},
$$

where $\rho(n, r)$ is given by (6).
Now suppose $\sum_{i=0}^{r-1} a_{i} \neq 1$. It was shown in [7] that under the condition $\operatorname{CGD}\left\{i+1 ; a_{i}>0\right\}=1$, the characteristic equation $x^{r}=a_{0} x^{r-1}+\cdots+a_{r-2} x+a_{r-1}$ of sequence (1) has a unique simple nonnegative root $q$, and the moduli of all other roots is less than $q$. If we set $b_{i}=a_{i} / q^{i+1}$, we have $b_{i} \geq 0, \sum_{i=0}^{r-1} b_{i}=1$, and $\operatorname{CGD}\left\{i+1 ; a_{i}>0\right\}=\operatorname{CGD}\left\{i+1 ; b_{i}>0\right\}$. Thus, the sequence $\left\{W_{n}\right\}_{n=0}^{+\infty}$ defined by $W_{n}=V_{n} / q^{n+1}$ is a sequence (1) whose initial conditions are $W_{i}=V_{i} / q^{i+1}$ for $i=0,1, \ldots, r-1$ and $W_{n+1}=\sum_{i=0}^{r-1} b_{i} W_{n-i}$ for $n \geq r-1$ (cf. [6]). Therefore, we derive from Theorem 3.1 the following result.

Theorem 3.2: Suppose that $a_{0}, \ldots, a_{r-1}$ are nonnegative real numbers and $\operatorname{CGD}\left\{i+1 ; a_{i}>0\right\}=1$. Then we have

$$
\lim _{n \rightarrow+\infty} \frac{1}{q^{n}} \rho(n, r)=\frac{q^{-r}}{\sum_{j=0}^{r-1}(j+1) \frac{a_{j}}{q^{j+1}}},
$$

where $\rho(n, r)$ is given by (6).
From Theorem 3.2, we can derive a new approximation of the number $q$. More precisely, we have the following corollary.

Corollary 3.3: Suppose that $a_{0}, \ldots, a_{r-1}$ are nonnegative real numbers and $\operatorname{CGD}\left\{i+1 ; a_{i}>0\right\}=1$. Then the unique simple nonnegative root $q$ of the characteristic equation of (1) is given by

$$
q=\lim _{n \rightarrow+\infty} \sqrt[n]{\rho(n, r)},
$$

where $\rho(n, r)$ is given by (6).

## ACKNOWLEDGMENT

The authors would like to thank the anonymous referee for useful suggestions that improved the presentation of this paper. We also thank Professors M. Abbad and A. L. Bekkouri for helpful discussions.

## REFERENCES

1. A. N. Philippou \& D. L. Antzoulakos. "Multivariate Fibonacci Polynomials of Order $k$ and the Multiparameter Negative Binomial Distribution of the Same Order." In Applications of Fibonacci Numbers 3:273-79. Ed. G. E. Bergum et al. Dordrecht: Kluwer, 1990.
2. L. E. Fuller. "Solutions for General Recurrence Relations." The Fibonacci Quarterly 19.1 (1981):64-69.
3. S. Karlin \& H. M. Taylor. A First Course in Stochastic Process. New York: Academic Press, 1975.
4. S. T. Klein. "Combinatoric Representation of Generalized Fibonacci Numbers." The Fibonacci Quarterly 29.2 (1991):124-31.
5. C. Levesque. "On $\boldsymbol{m}^{\text {th }}$-Order Linear Recurrences." The Fibonacci Quarterly 23.4 (1985): 290-95.
6. M. Mouline \& M. Rachidi. "Suites de Fibonacci généralisées et chaines de Markov." Real Academia de Ciencias Exatas, Fisicas y Naturales de Madrid 89.1-2 (1995):61-77.
7. A. M. Osatrowski. Solutions of Equations in Euclidean and Banach Spaces. New York and London: Academic Press, 1973.
8. A. N. Philippou. "A Note on the Fibonacci Sequence of Order $k$ and the Multinomial Coefficients." The Fibonacci Quarterly 21.1 (1983):82-86.
9. A. N. Philippou \& A. A. Muwafi. "Waiting for the $k^{\text {th }}$ Consecutive Success and the Fibonacci Sequences of Order $k$." The Fibonacci Quarterly 20.1 (1982):28-32.
10. G. N. Philippou. "On the $k^{\text {th }}$-Order Linear Recurrence and Some Probability Applications." In Applications of Fibonacci Numbers 1. Ed. G. E. Bergum et al. Dordrecht: Kluwer, 1988.
11. P. G. Hoel, S. C. Port, \& C. J. Stone. Introduction to Stochastic Process. Boston: Houghton Mifflin, 1972.
AMS Classification Numbers: 40A05, 40A25, 45M05
